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QUESTION 1

Drag the server type from the left onto the maximum number of capacity drives on the right. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

When building a HyperFlex cluster which two recommendations should be followed? (Choose two.) 

A. Use HX 220s for compute nodes and HX 240s for converged nodes 

B. Use B-Series servers to improve converged node scale. 

C. Use the same CPU model but memory configuration can be different. 

D. Use the same server configuration for the cluster. 

E. Use the same server model for the cluster. 

Correct Answer: DE 
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QUESTION 3

Refer to the exhibit. 

Which VIC model supports two wire connectivity to each Fabric Interconnect? 

A. VIC 1227 

B. VIC 1557 

C. VIC 1387 

D. VIC 1457 

Correct Answer: A 

 

 

QUESTION 4

Which two processes does failure on a node initiate? (Choose two.) 

A. Distributed pooled data is migrated off nodes to master data store. 

B. Affected node is marked as unhealthy and placed into standby mode 

C. A call-home process is initiated and the failure is reported to TAC 

D. The VMs on the failed node are moved to another node by vSphere high availability 

E. The system is marked unhealthy but remains operational. 

Correct Answer: DE 
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QUESTION 5

Which three functionalities are provided by VAAI? (Choose three.) 

A. When a native snapshot is requested, the request is processed by the hypervisor. 

B. Missing pieces of data are re-created from the remaining nodes in service 

C. Cisco HXDP creates a file system native snapshot which is registered in the vSphere. 

D. VAAI performs caching, deduplication: and compression of data. 

E. Instead of the snapshot being performed in hypervisor it is offloaded to Cisco HXDP. 

F. VAAI uses RAID to consolidate disks into a shared data platform. 

Correct Answer: ACE 

 

700-905 PDF Dumps 700-905 Practice Test 700-905 Study Guide

Powered by TCPDF (www.tcpdf.org)

700-905 PDF Dumps | 700-905 Practice Test | 700-905 Study Guide                                4 / 4

https://www.pass4itsure.com/700-905.html
https://www.pass4itsure.com/700-905.html
https://www.pass4itsure.com/700-905.html
http://www.tcpdf.org
https://www.pass4itsure.com/700-905.html
https://www.pass4itsure.com/700-905.html
https://www.pass4itsure.com/700-905.html

